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OBJECT ORIENTED PROGRAMMING USING C++

Paper: MCA-105 (C)

Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.

Note: Question No. 1 will be compulsory. Candidate
will be required to attempt four questions from
remaining eight questions. Select ome question
from each Unit. Each question carrying 16 marks.

1. (a) Whatis data abstraction ? 8x2=16
(b) What is message passing ?
(c) What is structure ?
(d) What is this pointer ?
(e) What is resource capture ?
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